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Set 3: Multiple-Choice
Questions on
Differentiation

In each of Questions 1-5 a function is given. Choose the alternative that is the
derivative, % , of the function.

1. y=@x+1)(1-x)
A) -12(1-x) B) (I-x)(1+8x) (€) (I-x(1-16x)
D) 3(1-xP@x+1) (E) (1-x(16x+7)

_ 2-x
2. y= 3x+1
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D Gy ® Gy
3 y= m
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D) - 3 Gx+1)™ (E) m

5. y=3x"-4x"7-2

(A) 2x|/3 _ 2x—l/2 (B) 3x~l/3 _ 2x*1/2 (C) %xS/S _ 8x3/2
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(D) 2 (B) 2xP-2x
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In questions 6-13, differentiable functions fand g have the values shown in the table.

x | flflegle

0] 2]1]5]| 4
1] 3]2]13]3
215 [3]1] =2
3/10/4]0]

6. IfA=f+2g,thenA'(3)=

A -2 By 2 <o 7 D) 8 (E) 10

7. IfB=feg, thenB'(2) =

(A) -20 B) -7 < -6 D)y -1 E) 13

8. IfD= i,thenD’(l):

W | —

Aa) -3 B -3 © -3 D) (E)
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\O
O |

9. If H(x)=+/f(x),then H'(3) =
1

| ] 2 )
@ 7 ® 350 ©2 o™ J; ® 40
10. IfK(x) = (ﬁ) (x), then K'(0) =

-13 1 13 13 22
>~ ® - © 5 ® L ® 5

(&) 4 25 16 25

11. If M(x) = f(g(x)), then M'(1) =
A) -12 B) -6 <) 4 D) 6 (E) 12

12. If P(x) = f(), then P'(1) =

A 2 B) 6 <) 8 D) 12 (E) 54

12 e




14, y=2/x- -

2Vx

1 . _-an W Ax-1
(A) x+—p B) x 7 +x" (C) e
XX 4x+/x

1 4
D) 4 €) it

Axo 4xx VX ooxvx

15. y=+x'+2x-1

x+1 B 4 , (C —l__
y (B) 4y(x+1) ) 2 12r1

(A)

x+1

‘m (E) none of these

(D)

24. The function f whose graph is y
shownhas f' =0 at x = A

(A) 2only

B) 2and5

(C) 4and7

D) 2,4,and7
(E) 2,4,5,and7

For Numbers 27-28, find the derivative.

27. y=x'sin L (x #0)
X
(A) 2x sinl - x’cos 1 (B) _2 cos N (C) 2x cosl
x x X X x

(D) 2xsin -1— - COoS l (E) -—cos l
X X X

1
2sin2x

28. y=

(A) —csc2xcot 2x (B) (C) 4 csc2xcot2x

4 cos 2x

cos2x
[— 2
(D) ZNF*_“sin > (E) —csc?2x



